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Microsoft Excel – Tutorial 10, Session 10.3

Performing “What If” Analyses

Skills Checklist and Notes
· Understanding Price Elasticity of Demand
· Every CVP analysis must take into account the relationship between price and demand

· If the price increases, demand will decrease.  But if the price decreases, demand will increase (Duh!)
· The maximum revenue will occur somewhere between the lowest and highest prices

· The response of one variable to changes in another is called elasticity, and the effect that price has on demand is the Price Elasticity of Demand
· One measure of the PED is given by this formula


(the absolute value of the change in demand divided by the change in price)

· E.g. if we assume that every 10% rise in price will cause a 15% drop in demand, the elasticity (e) would be


· Based on the value of e, we can make some general statements about the product being sold (see chart on next page)
	Value of e
	Description of e
	Meaning

	e = 0
	Perfectly

Inelastic
	Change in price has no impact on demand.  E.g. an essential or rare item such as a life-saving drug

	e < 1
	Relatively

Inelastic
	Large changes in price cause little change in demand
E.g. If e = .2, then a 10% change in price causes a 2% change in demand

	e = 1
	Unit Elastic
	Any change in price causes equal and opposite change in demand

	e > 1
	Relatively

Elastic
	Demand is very responsive to changes in price

E.g. If e = 2.0 then a 10% change in price causes a 20% change in demand

	very high
	Approaches

“Perfect

Elasticity”
	Demand is extremely responsive to changes in price

If consumers must choose between two products that are equal in all respects (e.g. gasoline), then raising the price of one will cause a huge drop in demand as people will just opt for the other


· Why This is Relevant

· Creative Ventures® wants to know what price to charge for its HoverDisks® in order to maximize its net income, using the price elasticity of demand as a factor in calculating sales volume (demand). (Recall that revenue = unit price x sales volume)
· Determining a reasonable value for the PED is a complex exercise involving examination of the market, desires of consumers, the product itself, historical trends, and the PED of similar products
· In the tutorial example, a PED of 1.2 is assumed.  I.e. a change of 10% in price will cause a change of 12% in demand.  
The new demand for HoverDisks® will then be computed from the existing demand using the accepted formula
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The Income Statement worksheet has this formula stored in C7 as


=B7*(1+B3*(1-C8/B8))
· Using “Trial and Error” to Solve Complex Problems

Trial and error means manually adjusting the values in cells to try to find a solution to a problem (i.e., a series of “What if?” projections)

Trial and error is more than mere guessing, because when a particular combination of values does not work, you logically take that into account when you do the next trial

The main drawbacks with trial and error are

1. When multiple cells are involved there may be many, many possible combinations of values to try

2. Because there are so many possible combinations, it may be difficult to determine exactly when you have hit upon the best solution (if you do)
· In the tutorial example, we use trial and error in an attempt to find the unit price that yields the largest net income.  I.e., we do a series of “What If” projections using different input values for the unit price
· Finding an Optimal Solution using Solver

See the online document “Using Solver to Find an Optimal Solution”
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